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QUESTION 1

Which two pairs of LAN Ethernet devices use an RJ-45 straight-through cable? (Choose two.)
A. switch-to-switch

B. switch-to-router

C. switch-to-hub

D. router-to-router

E. switch-to-server

Correct Answer: BE

QUESTION 2

What does Cisco use for Return Materials Authorization tracking of field-replaceable parts?
A. product number

B. serial number

C. RMA number

D. FRU number

Correct Answer: C

QUESTION 3

Which layer of the OSI model defines how data is formatted for transmission and how access to the physical media is
controlled?

A. presentation

B. data link

C. network

D. transport
Correct Answer: B

Reference: https://itcertzone.wordpress.com/2011/01/24/the-seven-layers-of-the-osi-model/#:~:text=Layer
%202%3A%20The%20Data%20Link,reliable%20delivery%200f%20the%20data.

QUESTION 4
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Which router port is used for dial-in access to the router for CLI management purposes and does not usually pass
normal network traffic?

A. Fast Ethernet

B. channelized serial
C. AUX

D. Gigabit Ethernet

Correct Answer: C

QUESTION 5

Which two statements about a SmartJack are true? (Choose two.)

A. It provides signal conversion.

B. It acts as a concentration point for dial-in and dial-out connections.

C. It operates at Layer 2 of the OSI model.

D. It provides channel testing.

E. It regenerates the signal to compensate for signal degradation from line transmission.

Correct Answer: AE

Latest 100-490 Dumps 100-490 Practice Test 100-490 Braindumps

Latest 100-490 Dumps | 100-490 Practice Test | 100-490 Braindumps 3/3


https://www.geekcert.com/100-490.html
https://www.geekcert.com/100-490.html
https://www.geekcert.com/100-490.html
http://www.tcpdf.org
https://www.geekcert.com/100-490.html
https://www.geekcert.com/100-490.html
https://www.geekcert.com/100-490.html

